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7-98 | 9—118F [ 11-13e5| 131585 15—17es| 17-1985| 19-21e 7-985 | 9-118% [ 11-13es| 131585 15-168F
1| 8 8 6 6 8 8 8 |[11~158 5~6@ HEEBHESR (VIPT=RER) 4 4 4 4 4
2|8 8 0 0 0 0 8 8 |o~178 1~8E RERKR—YKRR(VINT=RER) 4 1 4 4 4 9I~1E YINT=RHEE
3|A 8 0 0 0 0 8 8 [9~178F 1~8E MBHSTRAE(T=RHE 4 4 4 4 4
4|k 8 6 8 8 8 8 8 |o~11es 1~2@m LF4—2TF=R 4 2 2 4 4 N~12 HE(FT=ZHL)
slk|| 8 | 4| 8| 7| 7| 8| 8 [l e ueorexam 4| 2|2 4]a4 N~ 12 HE (FERBR)
6| K 8 8 8 8 8 8 8 4 2 2 4 4 1M~12 HE(TRHR)
7(&|| 8 8 8 8 8 4 4 |17~218 5~8F F-RTHTI— 4 0 4 4 4 9~12 IERIRT
8| 8 0 0 0 0 8 8 [9~178 1~8E MEHSTHMBM(T=RIHE 4 4 4 4 4
9| H 8 0 0 0 0 8 8 |o~178 1~8E HANBFEINT=RER) 4 1 4 4 4 9I~1E YIFT=RHKE
10| B 8 6 8 8 8 8 8 [o~118 1~2@ LF4—RT=R 4 4 4 4 4
x| s [ 2] s8] e8| 8| s [ZIF TR s 2244 N~12E $EG=Af%
k|l 8| 4] 8| 7] 7| 8| 8 i 2niimE e 4| 22| 4]34 H~2E BE (RGBS
13[ K 8 0 0 0 0 8 8 [o~178F 1~8@ HESBFEVIN-RESR) 4 2 2 4 4 N~12E HEGF=ZHR)
14| & 8 8 8 8 8 4 4 |17~218 5~8E FT=RT7HTI— 4 4 4 4 4
15| 8 0 0 0 0 8 8 |o~178 1~8E HEMNEFIE(IINT=RESR) 4 4 4 4 4
16(H 8 0 0 0 0 8 8 |o~178 1~8E HEANBFHEINT=RER) 4 1 4 4 4 9I~1E YINT=RHKE
17| A 8 6 8 8 8 8 8 [o~118F 1~2E LF4—RT=R 4 0 4 4 4 9~120 MEERARSF
18|k 8 6 8 8 8 8 8 [o~118 1~2F LF(—RF=R 4 2 2 4 4 N~12E BE(GTRHD)
19(7K 8 8 8 7 7 8 8 [|13~178% S5E HE(VIFT=RER) 4 2 2 4 4 N~12 HE(FT=AHR)
G IR R Sy, 42244 H~128 %EGoARR
21| & 8 8 8 8 8 4 4 [171~218 5~8F F=RFHTI— 4 4 4 4 4
22|t 8 0 0 0 0 8 8 [|9~178F 1~8E MFUTTRHIE(T=XIHR) 4 4 4 4 4
23(H 8 0 0 0 0 8 8 [9~178F 1~8E HHENEFHE(/IFT=RER) 4 1 4 4 4 9I~1E YINT=RHEE
24| B 8 8 8 8 8 8 8 4 4 4 4 4
25| K 8 6 8 8 8 8 8 [o~118 1~2F LF4—RFT=R 4 2 2 4 4 N~12E BEGF=RHS)
26|k 8 | 4| 8| 7| 7] 8| 8 [l m R an 4| 22| 4]34 N~ 28 BE(FoRBR)
27| K 8 4 8 8 8 8 8 [|o~11BF 5~8E MERRESF 4 2 2 4 4 N~12 BE(T=RAHR)
28| & 8 8 8 8 8 4 4 |17~218% 5~8F F=RTHTI— 4 0 4 4 4 9~12@ HERRST
29|t 8 0 0 0 0 8 8 |9~178F 1~8E MFHUTTRMB(T=RHE 4 4 4 4 4
30(H 8 0 0 0 0 8 8 |o~178 1~8@E MFH/STRE(T=AHE 4 1 4 4 4 9I~1E YINTZRHE
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